BUREURUEL

KERAR—ZR
BEAR—ZX > KSA4Ty7
( N
/ NS
BT R S [ s S
. xﬂiﬁﬁtpg§
ILR—4% [N\
i
\ S e}
EHERAR—ZR . sl N
FALRR—2Z ] ,ﬁm%fw

FALAR=—R(ERTHIAL)

& 3332300
£

BEEAR—-—X

BEAR—-—X(HEER)

I TS

X

X

(M

78100
[X

X

Al

A
[EEssges—sagpsassgee = SRy SIS SR = SRR RESEE— LN
[T A= mEgEe .=

p\s

F34 I

104800

/ 000V

REBRLE
(B &t E A )

BEEN - 1ETEX




BUREURUEL

R T - B B

ILAR—4&

EEBIAR—-R

FALRR—Z

FALAR=—R(ERTHIAL)

BEEAR—-—X

BEAR—-—X(HEER)

85100

_///,'_

//; ;

=, =T 57
$ﬁm BEE (35)()

2500

104800

—
B

P\

B1FE F mE X



BUREURUEL

KERAR—ZX
BEAR—ZX
ER T - & B
ILR—4
EEAR—ZR

FALRR—Z

FALAR=—R(ERTHIAL)

BEEAR—-—X

BEAR—-—X(HEER)

K&

BIKHE || FKHE N mKEE

P\

Ewv b -B2EEmEEK



BUREURUEL

KERAR—ZX
BEAR—ZX
ER T - & B
ILR—4
EEAR—ZR

FMLAR—XR

FALAR=—R(ERTHIAL)

EEEZAR—X

BEAR—-—X(HEER)

78100

[

I T BT T BRI
I X

4

&JB’%

L_l.——_—" ‘-/——_—- 104800

e e errrn e o e e rerny
25 oo oo By oy e i T e o

W T RRE T RE ' g
iy

&

2 |

2?&”%_ g — )
|

NS

P\

20 F [ &



BUREURUEL

KERAR—ZX
BEAR—ZX
ER T - & B
ILR—4
EEAR—ZR

FALRR—Z

FALAR=—R(ERTHIAL)

BEEAR—-—X

BEAR—-—X(HEER)

78100

[| o

TF T T 1

AR SR S
=t 4 +

Yy

104800

s

—FF =t +H

B b FH

B PR !

B FH o FH

N 1 IS N N S

+

P/ A

A N

PHRE

P\

REE < E X



BUREURUEL

KERAR—ZX
BEAR—X
BT -0
ILR—4 =
EEBIAR—-R
FALRR—Z - _— —
2 § I :
FALAR=—R(ENTHLRrAL) s
. BEE @T) g
B R < % VA k, AATIV—F 5 J‘? VT
E ~— . ‘ o
‘ BER (D) b $ITU—F 1
g sl | g
“ P || (o — | o
BEXA—Z (BEER) G cert B EEE ogE T | _| v
- X R I = S e s e o S S S EIIIIIEIIII lllll E IIIII Ell I lllll E IIIII Bllll A -M—-Q\j—l_m_ :IIIIIII'I\/IIIIIIIIl'\;llllllllllk7
= N N [ _ ¥ YN v
= VB2FL ErEi5 EfEi5 RS || MIKHE
7 K7 R OV IV N KA f
\ VAN [7AN] VAN I\ VAN I}
101800
A-A" BR@E
o o o o o o |
VibRE AL VT Y —F VAR E
f BEE () o "“2"“
= NF| REE m’ T BT ” IR E FEmEEmE 218
" VB1FL K. IIIIT;T;T;TTI??I 11T I11] IIIIIIIIIIIIIIIIIIIIIIIIIIIIIII’:TI ITTTII 111 Wgﬁ@mg‘] | - _’\ VB]FL
g j’ﬁ%ﬁ]%mg i m ¢ s i I\ RK1E | Ev k™ Ewk JL wik:l;#% g| | veerL
h VB2FL 1 Rk BES S| EEI Iy Ew bk N AN
— \ I\ 7 iy
I;\I Iy I} \ I}

B-B" ¥ X

85100




19990

19990

19990

19990

3500 4000

4000

4490

3500 4000

4000

4490

3500 4000

4000

4490

3500 4000

4000

4490

V2FL

ViR E

V2FL

Vi

V2FL

V i

V2FL

Vi B

=

*ﬂ

i

i

| *H

N

IH
YH \\H

s B

fER

15343 !
7 iy |
1— 3243

WA

L g

AT

L e

fER



- FEEEFEEERER M

AERBEEREE

B B E A it
#9650m”

YN I FE i

REHEAE
#92, 100m*

B O E IE

A & & w
o M 4 E % 2,100 m’
AR E A 650 m?
% A % 2,750 m’




FE BRI ERMETEMNERE

FE 1t o
#80m” ¢

$ &
#9100m°

#9390m’

A& 2B RS E At 1R

TEFE (FFE)

X =DE

TILEUFURE
BABA, FEK (24m). HZ B3m)

X =DE

= | ik | 3¢ |9 | 5 |






